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1 | ZEH 10/10(100%) MOy ot MLy 4 ot MOy ot M4 Of EAMCH A Of
2 | 2EZ 10/10(100%) HAMCi 4 ot EAMCi 2 ot 32/32(100%) EAMCH 2 ot 1/1(100%)
3 | gfxjet 9/10(90%) 11/11(100%) 28/32(87.5%) Moy ot 4/5(80%) 1/1(100%)
4 | &84 10/10(100%) 11/11(100%) 32/32(100%) HAMCH 4 ofH 5/5(100%) 1/1(100%)
5 | gdst 10/10(100%) 11/11(100%) EMCi 2 OfH 32/32(100%) 5/5(100%) 1/1(100%)
6 | 283 10/10(100%) HAMCH 4 ot M4 OfH 29/32(90.625%) 5/5(100%) 1/1(100%)
7 | ojdg 10/10(100%) EAM LA OFH 30/32(93.75%) EAMCHA ofd 5/5(100%) 1/1(100%)
8 | &g 10/10(100%) HAMCH 4 ofH 32/32(100%) EAMCH 4 ofH 5/5(100%) 1/1(100%)
9 | M 10/10(100%) 11/11(100%) M4 ot 30/32(91.3%) 5/5(100%) 1/1(100%)




